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PHYSICS

BOOKS - ZEN PHYSICS (KANNADA
ENGLISH)

THE HUMAN EYE AND THE
COLOURFUL WORLD

Questions Section In Text Questions



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. What is meant by power of accomodation of

the eye ?

° Watch Video Solution

2. A person with a myopic eye cannot see
objects beyond 1.2 m distinctly. What should
be the type of the corrective lens used to

restore proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mkT5rR9SlJwb
https://dl.doubtnut.com/l/_pHV66Gbva6YW
https://dl.doubtnut.com/l/_ArqIW93E9tuP

3. What is the far point and near point of the

human eye with normal vision ?

° Watch Video Solution

4. A student has difficulty in reading the
blackboard while sitting in the last row. What
could be the defect the child is suffering from

? How can it be corrected ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ArqIW93E9tuP
https://dl.doubtnut.com/l/_2mP2rSwNirzB
https://dl.doubtnut.com/l/_nAHzyYGkLTh2

5. What is meant by power of accomodation of

the eye ?

° Watch Video Solution

6. A person with a myopic eye cannot see
objects beyond 1.2 m distinctly. What should
be the type of the corrective lens used to

restore proper vision ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nAHzyYGkLTh2
https://dl.doubtnut.com/l/_E7HcUl2M0Zct

7. What is the far point and near point of the

human eye with normal vision ?

° Watch Video Solution

8. A student has difficulty in reading the
blackboard while sitting in the last row. What
could be the defect the child is suffering from

? How can it be corrected ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QkLgr07t6oV6
https://dl.doubtnut.com/l/_q4rS2WYhMO5B

Questions Section Textual Exercise

1. Ability of the eye to see objects at all

distances is called :

A. presbyopia

B. accomodation

C. near-sightedness

D. far-sightedness

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_tlOpFh61BvL4

2. The human eye forms the image of an object

at its

A. cornea

B. iris

C. pupil

D. retina

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tlOpFh61BvL4
https://dl.doubtnut.com/l/_TL0ZRNHNazUa

3. The least distance of distinct vision for a

young adult with normal vision is about

A.25m

B.2.5cm

C.25cm

D.25m

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eRoES5s4WNnB
https://dl.doubtnut.com/l/_a2I4H8TShHto

4. The change in focal length of an eye lens is

caused by the action of the

A. pupil

B. retina

C. ciliary muscles

D. iris

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a2I4H8TShHto

5. A person needs a lens of power -5.5 dioptres
for correcting his distant vision, for correcting
his near vision he needs a lens of power +1.5
dioptre. What is the focal length of the lens
required for correcting (i) distant vision and

(ii) near vision ?

o Watch Video Solution

6. The far point of a myopic person is 80 cm in

front of the eye. What is the nature and power


https://dl.doubtnut.com/l/_MOV6UA5DVPQ2
https://dl.doubtnut.com/l/_cQ5zUHP8cGgl

of the lens required to correct the problem ?

o Watch Video Solution

7. Make a diagram to show how hypermetropia
is corrected. The near point of a
hypermetropia eye is Tm. What is the power of
the lens required to correctt this defect ?
Assume that the near point of the normal eye

is 25 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_cQ5zUHP8cGgl
https://dl.doubtnut.com/l/_0wdMkDXOJKlJ
https://dl.doubtnut.com/l/_q7JEtqVpkQVG

8. Why is a normal eye not able to see clearly

the objects placed closer that 25 cm ?

o Watch Video Solution

9. What happens to the image distance in the
eye when we increase the distance of an

object from the eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_q7JEtqVpkQVG
https://dl.doubtnut.com/l/_yO7nIiYlgBn3

10. What causes twinkling of stars ?

o Watch Video Solution

11. Explain why the planets do not twinkle?

o Watch Video Solution

12. Why does the Sun appear reddish early in

the morning ?

o Watch Video Solution



https://dl.doubtnut.com/l/_en60ysNb3NKi
https://dl.doubtnut.com/l/_d5DBKvrv5HAh
https://dl.doubtnut.com/l/_igKiQrelEqiO

13. Why does the sky appear dark instead of

blue to an astronaut ?

o Watch Video Solution

14. The human eye can focus objects at
different distance by adjusting the focal

length of the eye lens. This is due to

A. presbyopia

B. accomodation


https://dl.doubtnut.com/l/_igKiQrelEqiO
https://dl.doubtnut.com/l/_IGDkoBhip012
https://dl.doubtnut.com/l/_U3QWMeM5crre

C. near-sightedness

D. far-sightedness

Answer:

° Watch Video Solution

15. The human eye forms the image of an

object at this

A. cornea

B. iris


https://dl.doubtnut.com/l/_U3QWMeM5crre
https://dl.doubtnut.com/l/_p0UaXzSJ0rQG

C. pupll

D. retina

Answer:

° Watch Video Solution

16. Define the least distance of distinct vision.

What is its value ?

A.25m

B.2.5cm


https://dl.doubtnut.com/l/_p0UaXzSJ0rQG
https://dl.doubtnut.com/l/_tmkPOiUmceee

C.25cm

D.25m

Answer:

° Watch Video Solution

17. The change in focal length of an eye lens is

caused by the action of the

A. pupil

B. retina


https://dl.doubtnut.com/l/_tmkPOiUmceee
https://dl.doubtnut.com/l/_nmdNYkDaZHBr

C. ciliary muscles

D. iris

Answer:

o Watch Video Solution

18. A person needs a lens of power -5.5
dioptres for correcting his distant vision, for
correcting his near vision he needs a lens of

power +1.5 dioptre. What is the focal length of


https://dl.doubtnut.com/l/_nmdNYkDaZHBr
https://dl.doubtnut.com/l/_gMmQCF7pf4IA

the lens required for correcting (i) distant

vision and (ii) near vision ?

° Watch Video Solution

19. The far point of a myopic person is 80 cm in
front of the eye. What is the nature and power

of the lens required to correct the problem ?

° Watch Video Solution



https://dl.doubtnut.com/l/_gMmQCF7pf4IA
https://dl.doubtnut.com/l/_ONAvSsnQ3hed

20. Make a diagram to show how
hypermetropia is corrected. The near point of
a hypermetropia eye is Tm. What is the power
of the lens required to correctt this defect ?
Assume that the near point of the normal eye

is 25 cm.

o Watch Video Solution

21. Why is a normal eye not able to see clearly

the objects placed closer that 25 cm ?

| & I


https://dl.doubtnut.com/l/_pJK6qD9S68Du
https://dl.doubtnut.com/l/_raPVy9BEFacD

| ¥ Watch Video Solution |

22. What happens to the image distance in the
eye when we increase the distance of an

object from the eye ?

o Watch Video Solution

23. Why do stars twinkle?

o Watch Video Solution



https://dl.doubtnut.com/l/_raPVy9BEFacD
https://dl.doubtnut.com/l/_Ky4W3FzIDH4b
https://dl.doubtnut.com/l/_tRUv25HcQCQ6
https://dl.doubtnut.com/l/_upx65DF5KARj

24. Explain why the planets do not twinkle?

o Watch Video Solution

25. Why does the Sun appear reddish early in

the morning ?

o Watch Video Solution

26. Why does the sky appear dark instead of

blue to an astronaut ?

o Watch Video Solution



https://dl.doubtnut.com/l/_upx65DF5KARj
https://dl.doubtnut.com/l/_Nx4eissXV0JD
https://dl.doubtnut.com/l/_G2RaN3UFjyMz

Zen Additional Questions Section Multiple

Choice Questions

1. When light rays enter the eye, most of the

refraction occurs at the

A. crystalline lens

B. outer surface of the cornea

C.iris

D. pupil


https://dl.doubtnut.com/l/_G2RaN3UFjyMz
https://dl.doubtnut.com/l/_W4HMVVDKI9hj

Answer: B

o Watch Video Solution

2. The focal length of the eye lens increases

when eye muscles

A. are relaxed and lens becomes thinner

B. contract and lens becomes thicker

C. are relaxed and lens becomes thicker

D. contract and lens becomes thinner


https://dl.doubtnut.com/l/_W4HMVVDKI9hj
https://dl.doubtnut.com/l/_CWGpMtX69Otu

Answer: A

o Watch Video Solution

3. Which of the following statements is correct

?

A. A person with myopia can see distant

objects clearly

B.A person with hypermetropia can see

nearby objects clearly


https://dl.doubtnut.com/l/_CWGpMtX69Otu
https://dl.doubtnut.com/l/_uFhqI0WDAf09

C. A person with myopia can see nearby

objects clearly

D. A person with hypermetropia cannot see

distant objects clearly

Answer: C

o Watch Video Solution

4.The change that occurs in the eye to see the

distant object clearly is


https://dl.doubtnut.com/l/_uFhqI0WDAf09
https://dl.doubtnut.com/l/_BBcqjIajtgWz

A. focal length of the eye lens decreases

B. curvature of the eye lens increases

C.focal length of the eye lens increases

D. ciliary muscles of the eye contract

Answer: C

o Watch Video Solution

5. Light enters of the eye through a thin,

transparent membrane known as


https://dl.doubtnut.com/l/_BBcqjIajtgWz
https://dl.doubtnut.com/l/_7QaCh2znFARR

A. cornea

B. pupil

C.retina

D. iris

Answer: A

o Watch Video Solution

6. Human eye can be compared to

A. binoculars


https://dl.doubtnut.com/l/_7QaCh2znFARR
https://dl.doubtnut.com/l/_xm0mP0fP8ZZB

B. telescope

C. camera

D. microscope

Answer: C

o Watch Video Solution

7.The type of lens present in the human eye is

A. Bifocal

B. Concave


https://dl.doubtnut.com/l/_xm0mP0fP8ZZB
https://dl.doubtnut.com/l/_IrrVcsCrI6il

C. Convex

D. Both concave and convex

Answer: C

o Watch Video Solution

8. The image formed by retina of human eye is

A. Real and erect

B. Real and inverted

C. Virtual and inverted


https://dl.doubtnut.com/l/_IrrVcsCrI6il
https://dl.doubtnut.com/l/_UC66CJxXn7yb

D. Virtual and erect

Answer: B

° Watch Video Solution

9. The phenomenon of light responsible for

the working of the human eye is

A. Reflection

B. Disperson

C. Power of accomodation


https://dl.doubtnut.com/l/_UC66CJxXn7yb
https://dl.doubtnut.com/l/_EqGHIj3YLpb5

D. Persistence of vision

Answer: C

o Watch Video Solution

10. Which part of the eye works like a

photographic plate of a camera ?

A. Retina

B. Pupil

C.lIris


https://dl.doubtnut.com/l/_EqGHIj3YLpb5
https://dl.doubtnut.com/l/_1IPZsxnNLY75

D. Cornea

Answer: A

° Watch Video Solution

11. In normal human eye, the image is formed

A. behind retina

B. in front of retina

C.on retina

D. in between lens and retina


https://dl.doubtnut.com/l/_1IPZsxnNLY75
https://dl.doubtnut.com/l/_HjOyNO3MfYxO

Answer: C

o Watch Video Solution

12. The fluid between the retina and the eye

lens is called

A. aqueous homour

B. eye gel

C. tears

D. vitreous humour


https://dl.doubtnut.com/l/_HjOyNO3MfYxO
https://dl.doubtnut.com/l/_BprwiyTn8TfR

Answer: D

o Watch Video Solution

13. Which vision defect causes the eye lens to

become milky and cloudy ?

A. Myopia

B. Presbyopia

C. Cataract

D. Hypermetropia


https://dl.doubtnut.com/l/_BprwiyTn8TfR
https://dl.doubtnut.com/l/_xl7uS0tcOM5a

Answer: C

o Watch Video Solution

14. The defect of vision which occurs due to

excessive curvature of the eye lens is

A. Myopia

B. Hypermetropia

C. Presbyopia

D. Cataract


https://dl.doubtnut.com/l/_xl7uS0tcOM5a
https://dl.doubtnut.com/l/_MJ2qMRuC0ypy

Answer: A

o Watch Video Solution

15. The defect of vision arises when the focal

length of the eye is too long is

A. Myopia

B. Cataract

C. Presbyopia

D. Hypermetropia


https://dl.doubtnut.com/l/_MJ2qMRuC0ypy
https://dl.doubtnut.com/l/_xSGAgMPhYU4Y

Answer: D

o Watch Video Solution

16. Which part of the human eye is mainly

donated after death ?

A. Retina

B. pupil

C.lIris

D. Cornes


https://dl.doubtnut.com/l/_xSGAgMPhYU4Y
https://dl.doubtnut.com/l/_J1rhwrt7lyBx

Answer: D

o View Text Solution

17. The scientist who first demonstrated that

sunlight is composed of seven colours is

A. Maxwell

B. newton

C. Einstein

D. Faraday


https://dl.doubtnut.com/l/_J1rhwrt7lyBx
https://dl.doubtnut.com/l/_eI9Unfz6XBN9

Answer: B

o Watch Video Solution

18. After tracing the path of a ray of light
through a glass prism, a student has marked
the angle of incidence [Z%], angle of refraction
[Zr], angle of emergence [Ze], angle of prism [

/ A], and angle of deviation [£D] as shown in


https://dl.doubtnut.com/l/_eI9Unfz6XBN9
https://dl.doubtnut.com/l/_885VXTXpqW0O

the diagram. The correctly marked angles are:

A Ziand Zr

B. /7 and Ze

C. £, Zeand £ZD

D. Zi, Zr and Ze

Answer: B

l o Watch Video Solution


https://dl.doubtnut.com/l/_885VXTXpqW0O

19. In the following ray diagra m the correctly

marked angles are :

A. /1 and Ze

B./A and /D

C.Zi1,/rand ZD


https://dl.doubtnut.com/l/_885VXTXpqW0O
https://dl.doubtnut.com/l/_PKNQcE9bW7T1

D.Zr ,/Aand £ZD

Answer: D

o Watch Video Solution

20. Study the following digure in which the
student has marked the angle of incidence [/:
], anfle of refraction [Zr], angle of emergence [
Ze], angle of prism [ZA], and angle of

deviation [£D]. The correctly marked angles


https://dl.doubtnut.com/l/_PKNQcE9bW7T1
https://dl.doubtnut.com/l/_UC3xgiHj3Kv4

are:

A /A and /3

B./ZA, /iand Zr

c. /A, /i, Zeand ZD

D.ZA, /i, /r and £D

Answer: A



https://dl.doubtnut.com/l/_UC3xgiHj3Kv4

I O Watch Video Solution

21. A student traces the path of a ray of light
through a triangular glass prism for different
values of angles of incidence. On analysing the
ray diagrams, which one of the conclusions is
he likely to draw ?
A.The emergent ray is parallel to the
incident ray.

B. The emergent ray bends at an angle to

the direction of the incident ray.


https://dl.doubtnut.com/l/_UC3xgiHj3Kv4
https://dl.doubtnut.com/l/_HFpf41ZE8M0v

C.The emergent ray and the refracted ray

are at right angles to each other.

D. The emergent ray is perpendicular to the

incident ray.

Answer: B

o Watch Video Solution

22. Which colour is scattered the most ?

A. Blue


https://dl.doubtnut.com/l/_HFpf41ZE8M0v
https://dl.doubtnut.com/l/_BqKVOhgiznQ0

B. Orange

C. green

D. Red

Answer: A

o Watch Video Solution

23. Atmospheric refraction advances sunrise

and delays sunset by

A. 2 sec


https://dl.doubtnut.com/l/_BqKVOhgiznQ0
https://dl.doubtnut.com/l/_xvJJIWHAB0oN

B.2 min

C. 20 min

D. 2 hrs

Answer: B

o Watch Video Solution

24. What is Tyndall effect ?

A. liquid particles

B. solution


https://dl.doubtnut.com/l/_xvJJIWHAB0oN
https://dl.doubtnut.com/l/_uHaMnMMC9eAK

C. colloidal particles

D. solvent molecules

Answer: C

o Watch Video Solution

25. When light rays enter the eye, most of the

refraction occurs at the

A. crystalline lens

B. outer surface of the cornea


https://dl.doubtnut.com/l/_uHaMnMMC9eAK
https://dl.doubtnut.com/l/_0W1EIvr8nvw1

C.iris

D. pupil

Answer: B

o Watch Video Solution

26. The focal length of the eye lens increases

when eye muscles

A. are relaxed and lens becomes thinner

B. contract and lens becomes thicker


https://dl.doubtnut.com/l/_0W1EIvr8nvw1
https://dl.doubtnut.com/l/_YHdHpDDEu3LF

C. are relaxed and lens becomes thicker

D. contract and lens becomes thinner

Answer: A

o Watch Video Solution

27. Which of the following statements is

correct ?

A. A person with myopia can see distant

objects clearly


https://dl.doubtnut.com/l/_YHdHpDDEu3LF
https://dl.doubtnut.com/l/_U2tnPaGlTzIl

B.A person with hypermetropia can see

nearby objects clearly

C.A person with myopia can see nearby

objects clearly

D. A person with hypermetropia cannot see

distant objects clearly

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_U2tnPaGlTzIl

28. The change that occurs in the eye to see

the distant object clearly is

A. focal length of the eye lens decreases

B. curvature of the eye lens increases

C.focal length of the eye lens increases

D. ciliary muscles of the eye contract

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GyjHGEuOf7Hi
https://dl.doubtnut.com/l/_ooMJgoYOCZQE

29. Light enters of the eye through a thin,

transparent membrane known as

A. cornea

B. pupil
C.retina

D. iris

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ooMJgoYOCZQE

30. Human eye can be compared to

A. binoculars

B. telescope

C. camera

D. microscope

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tS0bdioeovrV

31. The type of lens present in the human eye

IS

A. Bifocal

B. Concave

C. Convex

D. Both concave and convex

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XUzH8mVsnCXM
https://dl.doubtnut.com/l/_oIetNOnQfsuK

32. The image formed by retina of human eye

IS

A. Real and erect

B. Real and inverted

C. Virtual and inverted

D. Virtual and erect

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oIetNOnQfsuK

33. The phenomenon of light responsible for

the working of the human eye is

A. Reflection

B. Disperson

C. Power of accomodation

D. Persistence of vision

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PhOhibi2glb0
https://dl.doubtnut.com/l/_kRY8zbnJQg4B

34. Which part of the eye works like a

photographic plate of a camera ?

A. Retina

B. Pupil

C.lIris

D. Cornea

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kRY8zbnJQg4B

35.In normal human eye, the image is formed

A. behind retina

B. in front of retina

C.on retina

D. in between lens and retina

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_T3icrHxF5an9

36. The fluid between the retina and the eye

lens is called

A. aqueous homour

B. eye gel

C. tears

D. vitreous humour

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UGAs2yF3p4TK
https://dl.doubtnut.com/l/_TkJOkoOEPLfy

37. Which vision defect causes the eye lens to

become milky and cloudy ?

A. Myopia

B. Presbyopia

C. Cataract

D. Hypermetropia

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TkJOkoOEPLfy

38. The defect of vision which occurs due to

excessive curvature of the eye lens is

A. Myopia

B. Hypermetropia

C. Presbyopia

D. Cataract

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FWXGneCZ1n1F
https://dl.doubtnut.com/l/_b8iuRFoHR52s

39. The defect of vision arises when the focal

length of the eye is too long is

A. Myopia

B. Cataract

C. Presbyopia

D. Hypermetropia

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_b8iuRFoHR52s

40. Which part of the human eye is mainly

donated after death ?

A. Retina

B. pupill

C.lIris

D. Cornes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wncNgmS3xv0r
https://dl.doubtnut.com/l/_Cgy4VHAFuNLx

41. The scientist who first demonstrated that

sunlight is composed of seven colours is

A. Maxwell

B. newton

C. Einstein

D. Faraday

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Cgy4VHAFuNLx

42. After tracing the path of a ray of light
through a glass prism, a student has marked
the angle of incidence [Z1], angle of refraction
[£r], angle of emergence [Ze], angle of prism [
/ A}, and angle of deviation [£D] as shown in

the diagram. The correctly marked angles are :

A /1 and Zr


https://dl.doubtnut.com/l/_dK3OP5aQQYkX

B. /i and Ze

C. Zi, Zeand ZD

D. Zi, Zr and Ze

Answer: B

o Watch Video Solution

43. In the following ray diagra m the correctly

marked angles are :


https://dl.doubtnut.com/l/_dK3OP5aQQYkX
https://dl.doubtnut.com/l/_4XpJYzeGt0VO

A. /i and Ze

B./A and /D

C.Zi1,/rand ZD

D./r,/Aand £ZD

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4XpJYzeGt0VO

44, Study the following digure in which the
student has marked the angle of incidence [£:
], anfle of refraction [Zr], angle of emergence [
Ze], angle of prism [ZA], and angle of

deviation [£D]. The correctly marked angles

are:



https://dl.doubtnut.com/l/_4XpJYzeGt0VO
https://dl.doubtnut.com/l/_BAz9K27aP0UI

A /A and /3

B./ZA, /iand Zr

C.LA, /i, Zeand £D

D.ZA, /i, /r and £D

Answer: A

o Watch Video Solution

45. A student traces the path of a ray of light
through a triangular glass prism for different

values of angles of incidence. On analysing the


https://dl.doubtnut.com/l/_BAz9K27aP0UI
https://dl.doubtnut.com/l/_Yki8LXhzmGGl

ray diagrams, which one of the conclusions is

he likely to draw ?

A.The emergent ray is parallel to the

incident ray.

B. The emergent ray bends at an angle to

the direction of the incident ray.

C. The emergent ray and the refracted ray

are at right angles to each other.

D. The emergent ray is perpendicular to the

incident ray.


https://dl.doubtnut.com/l/_Yki8LXhzmGGl

Answer: B

o Watch Video Solution

46. Study the following ray diagram. Tn this
diagram, the angle of incidence, the angle of
emergence, and the angle of deviation

respectively have been represented by



https://dl.doubtnut.com/l/_Yki8LXhzmGGl
https://dl.doubtnut.com/l/_w2DoL0xGZRpW

A.y,p,z

B. x,9,z

C. p,y.Z

D. p,z,y

Answer: C

° Watch Video Solution

47. Which colour is scattered more effectively

by air molecules in our atmosphere ?


https://dl.doubtnut.com/l/_w2DoL0xGZRpW
https://dl.doubtnut.com/l/_8hH4VZu6X2kx

A. Blue

B. Orange

C. green

D. Red

Answer: A

° Watch Video Solution

48. Atmospheric refraction advances sunrise

and delays sunset by


https://dl.doubtnut.com/l/_8hH4VZu6X2kx
https://dl.doubtnut.com/l/_AnBoGI6yMyAG

A. 2 sec

B.2 min

C. 20 min

D. 2 hrs

Answer: B

o Watch Video Solution

49, Tyndall effect is due to scattering by

A. liquid particles


https://dl.doubtnut.com/l/_AnBoGI6yMyAG
https://dl.doubtnut.com/l/_CrjfxYmSpGXb

B. solution

C. colloidal particles

D. solvent molecules

Answer: C

o Watch Video Solution

Zen Additional Questions Section Very Short

Answer Type Questions

1. What is cornea ?



https://dl.doubtnut.com/l/_CrjfxYmSpGXb
https://dl.doubtnut.com/l/_ZAfP0Y8S2DGd

l ° Watch Video Solution

2. Mention the function of eye lens.

° Watch Video Solution

3. Where does refraction of light rays occur in

the human eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZAfP0Y8S2DGd
https://dl.doubtnut.com/l/_kRcUMF1siLeY
https://dl.doubtnut.com/l/_32n1MuYIUmID

4. Mention the role of iris in the human eye.

o Watch Video Solution

5. Which are the light-sensitive cells present in

the retina of the human eye ?

° Watch Video Solution

6. Which nerves carry electrical signals from

the light-sensitive cells of retina to the brain ?



https://dl.doubtnut.com/l/_KvTjMlMiRMbl
https://dl.doubtnut.com/l/_vj9PJKeVFUVJ
https://dl.doubtnut.com/l/_unwnWxTaxFMP

o Watch Video Solution

7. Name (i) the light sensitive screen and (ii)

diaphragm of the human eye.

o View Text Solution

8. What is iris?

o View Text Solution



https://dl.doubtnut.com/l/_unwnWxTaxFMP
https://dl.doubtnut.com/l/_MMdmLKD9xTco
https://dl.doubtnut.com/l/_zizQOyJTHE9P

9. Which part of the eye generates electric

signals ?

o Watch Video Solution

10. What is blind spot ?

o Watch Video Solution

11. What is the function of pupil of the human

eye ?



https://dl.doubtnut.com/l/_6oAS4qKpCrwj
https://dl.doubtnut.com/l/_jVkgcssx04Ca
https://dl.doubtnut.com/l/_GoQHj0jYotsE

o Watch Video Solution

12. Which muscles help in changing the shape

of the eye lens ?

o Watch Video Solution

13. State one point of similarity between the
image formed by the human eye and the

camera.

o Watch Video Solution



https://dl.doubtnut.com/l/_GoQHj0jYotsE
https://dl.doubtnut.com/l/_4aWgob3zzQMX
https://dl.doubtnut.com/l/_oY8rqZ6ADq0j

14. Why are we not able to see the things

clearly when we come out of a drak room?

o Watch Video Solution

15. why does it take some time to see objects
in a cinema hall when we just enter the hall

from bright sunlight ? Explain in breif?

o Watch Video Solution



https://dl.doubtnut.com/l/_oY8rqZ6ADq0j
https://dl.doubtnut.com/l/_U4GwPZfyj0dN
https://dl.doubtnut.com/l/_YlQB5jFgpBxe
https://dl.doubtnut.com/l/_RZHuVbEGOFWz

16. Define the least distance of distinct vision.

What is its value ?

o Watch Video Solution

17. How is cataract caused ? How is it cured ?

o View Text Solution

18. Mention one advantage of having two eyes

instead of one.

o Watch Video Solution



https://dl.doubtnut.com/l/_RZHuVbEGOFWz
https://dl.doubtnut.com/l/_axwBQ77xYvbB
https://dl.doubtnut.com/l/_a2wo5ABvagCu

19. How do the eyes of a tiger difer from that

of a rabbit ?

o View Text Solution

20. What is the main advantage of having two

eyes in front of the head ?

o Watch Video Solution



https://dl.doubtnut.com/l/_a2wo5ABvagCu
https://dl.doubtnut.com/l/_halgpjhe5JeH
https://dl.doubtnut.com/l/_po8wufItcLHb

21. A person can see nearby objects clearly but
distant objects appear blurry. Which vision

defect is he suffering from ?

o Watch Video Solution

22.In which defect of vision is (i) the far point
nearer than infinity ? (ii) near point away from

25cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uC4SbOmFspQD
https://dl.doubtnut.com/l/_RB2HRj3UMnWC
https://dl.doubtnut.com/l/_87NgakYVGzQg

23. A person can see distant objects clearly but
nearby objects appear blurry. Which defect is

he suffering from ?

o Watch Video Solution

24. Which vision defect arises when the eyeball

(i) shrinks and (ii) elongates in size ?

° Watch Video Solution



https://dl.doubtnut.com/l/_87NgakYVGzQg
https://dl.doubtnut.com/l/_Z6DFAsrpIVag

25. Which eye defect can be corrected using (i)

convex lens and (ii) concave lens ?

° Watch Video Solution

26. Where is the image formed if a person is
suffering  from (i) myopia and (ii)

hypermetropia ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AiSEG7Ku5kK5
https://dl.doubtnut.com/l/_9uU0Ojgxhwdf

27. An aged person is having difficulty in
seeing nearby objects clearly. Name this defect

of vision.

o Watch Video Solution

28. Bifocal lenses are used to correct which

defect of vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RAJ3IzhpLnmg
https://dl.doubtnut.com/l/_b1jTBVcEBvJ5

29. Observe the given figure. Name the eye
defect indicated in the figure and also

mention the lens used to correct this defect.

5_ —

—t

o Watch Video Solution

30. Shilpa is using spectacles. Is she eligible to

pledge to donate her eyes ? Why ?



https://dl.doubtnut.com/l/_1UXfzhuPr9mz
https://dl.doubtnut.com/l/_xWV1wUgJlwgt

I O Watch Video Solution

31. What is disporsion of light? Mention the
colour that bonds the least and the colour
that bends the most when ligh undergoes

dispersion through a prism.

o Watch Video Solution

32. Name the colours that constitute white
light in the order of increasing angle of

deviation.


https://dl.doubtnut.com/l/_xWV1wUgJlwgt
https://dl.doubtnut.com/l/_1pkWCqmclckD
https://dl.doubtnut.com/l/_EKLCuVll98eN

° Watch Video Solution

33. List the colours observed in a spectrum
through a prism in the increasing order of

their deviation through the prism.

° Watch Video Solution

34. Light of two colours A and B passes

through a prism. A deviates more than B from


https://dl.doubtnut.com/l/_EKLCuVll98eN
https://dl.doubtnut.com/l/_5jmUCNwsS05F
https://dl.doubtnut.com/l/_H6z7B50h6boG

its path incidence. Which colour has a higher

speed in the prism ?

° Watch Video Solution

35. Mention one difference between refraction

in a prism and a glass slab.

o Watch Video Solution

36. A glass prism produces a spectrum when

white light passes through it but a glass slab


https://dl.doubtnut.com/l/_H6z7B50h6boG
https://dl.doubtnut.com/l/_jV3j14nx79Gc
https://dl.doubtnut.com/l/_sWWboZnlyzLX

does not do so. Explain.

o Watch Video Solution

37. Why is the path of sunlight visible when it

passes through the canopy of a dense forest ?

° Watch Video Solution

38. Why is it dangerous to drive on a foggy day

?

o Watch Video Solution



https://dl.doubtnut.com/l/_sWWboZnlyzLX
https://dl.doubtnut.com/l/_usC8jCKXpvAk
https://dl.doubtnut.com/l/_Y9GuNMrJ1Wjm

39. Name the colours of spectrum which
respectively have (a) maximum wavelength (b)

minimum wavelength.

o Watch Video Solution

40. Why does disperson occur only on

refraction and not on reflection ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Y9GuNMrJ1Wjm
https://dl.doubtnut.com/l/_2lfbYrJqKjWY
https://dl.doubtnut.com/l/_sA2zTcfTbkDy
https://dl.doubtnut.com/l/_sHvfGyJMSvLe

41. How does the sky appear from the surface

of the moon ?

o Watch Video Solution

42. What is the reason for atmospheric

refraction ?

° Watch Video Solution



https://dl.doubtnut.com/l/_sHvfGyJMSvLe
https://dl.doubtnut.com/l/_iL0wg0d4PGnC

43. On what factor does the colour of the

scattered light depend ?

o Watch Video Solution

44, How does atmospheric refraction affect

the duration of the day on the earth?

o Watch Video Solution



https://dl.doubtnut.com/l/_MQXqx5Dke2Ix
https://dl.doubtnut.com/l/_q1PlbaJShH7f

45. What is the cause of random wavering or
flickering of the objects near a fire or on a very

hot day ?

o Watch Video Solution

46. Name any two phenomena which arise due
to scattering of light in the earth's

atmosphere.

o Watch Video Solution



https://dl.doubtnut.com/l/_cHr2ZC2SORD1
https://dl.doubtnut.com/l/_X4oEGBdXcMK1
https://dl.doubtnut.com/l/_TtheaFvMJFgP

47. What would have been the colour of the

sky, in the absence of atmosphere ?

o Watch Video Solution

48. Why are the traffic light-signals [or danger

signals] of red colour ?

o Watch Video Solution

49. What is cornea ?

| I


https://dl.doubtnut.com/l/_TtheaFvMJFgP
https://dl.doubtnut.com/l/_V08Wlt55AcMG
https://dl.doubtnut.com/l/_LRMwIM9wyWUk

| ¥ Watch Video Solution |

50. Mention the function of eye lens.

o Watch Video Solution

51. Where does refraction of light rays occur in

the human eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LRMwIM9wyWUk
https://dl.doubtnut.com/l/_F0eRdHSdTchT
https://dl.doubtnut.com/l/_r36thF1OeDNd

52. Mention the role of iris in the human eye.

o Watch Video Solution

53. Which are the light-sensitive cells present

in the retina of the human eye ?

° Watch Video Solution

54. Which nerves carry electrical signals from

the light-sensitive cells of retina to the brain ?



https://dl.doubtnut.com/l/_9zsRdxtop132
https://dl.doubtnut.com/l/_3AqQmif8cPKb
https://dl.doubtnut.com/l/_SP5MMRqzuQTP

o Watch Video Solution

55. Which are the light-sensitive cells present

in the retina of the human eye ?

o Watch Video Solution

56. What is iris?

o Watch Video Solution



https://dl.doubtnut.com/l/_SP5MMRqzuQTP
https://dl.doubtnut.com/l/_hIKRPYjSz2EW
https://dl.doubtnut.com/l/_EWlw743TQEGl

57. Which part of the eye generates electric

signals ?

o Watch Video Solution

58. What is blind spot ?

o Watch Video Solution

59. What is the function of pupil of the human

eye ?



https://dl.doubtnut.com/l/_UseVTg4MCYBm
https://dl.doubtnut.com/l/_H4jyKKxPVsHY
https://dl.doubtnut.com/l/_eV5LbhdOCvgQ

o Watch Video Solution

60. Which muscles help in changing the shape

of the eye lens ?

o Watch Video Solution

61. State one point of similarity between the
image formed by the human eye and the

camera.

o Watch Video Solution



https://dl.doubtnut.com/l/_eV5LbhdOCvgQ
https://dl.doubtnut.com/l/_m64PkacCox0z
https://dl.doubtnut.com/l/_91WPeS79ISMa

62. Why are we not able to see the things

clearly when we come out of a drak room?

o Watch Video Solution

63. why does it take some time to see objects
in a cinema hall when we just enter the hall

from bright sunlight ? Explain in breif?

o Watch Video Solution



https://dl.doubtnut.com/l/_91WPeS79ISMa
https://dl.doubtnut.com/l/_IX83iBY60SBK
https://dl.doubtnut.com/l/_CrJk7eXCN5w6
https://dl.doubtnut.com/l/_sRAYSvh9UNho

64. Define the least distance of distinct vision.

What is its value ?

o Watch Video Solution

65. How is cataract caused ? How is it cured ?

o Watch Video Solution

66. Mention one advantage of having two eyes

instead of one.

o Watch Video Solution



https://dl.doubtnut.com/l/_sRAYSvh9UNho
https://dl.doubtnut.com/l/_CAQc9NmpeepE
https://dl.doubtnut.com/l/_i7vs484HlHZl

67. How do the eyes of a tiger difer from that

of a rabbit ?

o View Text Solution

68. What is the main advantage of having two

eyes in front of the head ?

o Watch Video Solution



https://dl.doubtnut.com/l/_i7vs484HlHZl
https://dl.doubtnut.com/l/_LZz6PQAejH4l
https://dl.doubtnut.com/l/_r5JMtuNNzRWh

69. A person can see nearby objects clearly but
distant objects appear blurry. Which vision

defect is he suffering from ?

o Watch Video Solution

70.1n which defect of vision is (i) the far point
nearer than infinity ? (ii) near point away from

25cm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_8hHHPBJSFAod
https://dl.doubtnut.com/l/_MiqBHuHOi2kV
https://dl.doubtnut.com/l/_WFPqWy4qRDIQ

71. A person can see distant objects clearly but
nearby objects appear blurry. Which defect is

he suffering from ?

o Watch Video Solution

72. Which vision defect arises when the eyeball

(i) shrinks and (ii) elongates in size ?

° Watch Video Solution



https://dl.doubtnut.com/l/_WFPqWy4qRDIQ
https://dl.doubtnut.com/l/_U5jVnVA63NTW

73. Which eye defect can be corrected using (i)

convex lens and (ii) concave lens ?

° Watch Video Solution

74. Where is the image formed if a person is
suffering  from (i) myopia and (ii)

hypermetropia ?

° Watch Video Solution



https://dl.doubtnut.com/l/_boI9z6srlhx1
https://dl.doubtnut.com/l/_GE9DQZyu7Iz2

75. An aged person is having difficulty in
seeing nearby objects clearly. Name this defect

of vision.

o Watch Video Solution

76. Bifocal lenses are used to correct which

defect of vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Zs9CG0XJwSxL
https://dl.doubtnut.com/l/_qsOSPMdFC7ZF

77. Observe the given figure. Name the eye
defect indicated in the figure and also

mention the lens used to correct this defect.

5_ —

—t

o Watch Video Solution

78. Mohan is suffering from diabetes and

hypertension. Can be pledge to donate his


https://dl.doubtnut.com/l/_9Ja5LJEFhzpf
https://dl.doubtnut.com/l/_zPu3FzPHthc9

eyes ?

o Watch Video Solution

79. Shilpa is using spectacles. Is she eligible to

pledge to donate her eyes ? Why ?

° Watch Video Solution

80. What is dispersion of light?

° Watch Video Solution



https://dl.doubtnut.com/l/_zPu3FzPHthc9
https://dl.doubtnut.com/l/_T0q7RjG9KPxO
https://dl.doubtnut.com/l/_qkg2DyJjUIlT

81. Name the colours that constitute white
light in the order of increasing angle of

deviation.

o Watch Video Solution

82. List the colours observed in a spectrum
through a prism in the increasing order of

their deviation through the prism.

o Watch Video Solution



https://dl.doubtnut.com/l/_lvVCLAiT6AR6
https://dl.doubtnut.com/l/_Is1VGqYsPQVW
https://dl.doubtnut.com/l/_wWmSNrXm0Htl

83. Light of two colours A and B passes
through a prism. A deviates more than B from
its path incidence. Which colour has a higher

speed in the prism ?

° Watch Video Solution

84. Mention one difference between refraction

in a prism and a glass slab.

o Watch Video Solution



https://dl.doubtnut.com/l/_wWmSNrXm0Htl
https://dl.doubtnut.com/l/_VEzzFQRhiZOf
https://dl.doubtnut.com/l/_i4BqvQWtzgwK

85. A glass prism produces a spectrum when
white light passes through it but a glass slab

does not do so. Explain.

o Watch Video Solution

86. Why is the path of sunlight visible when it

passes through the canopy of a dense forest ?

° Watch Video Solution



https://dl.doubtnut.com/l/_i4BqvQWtzgwK
https://dl.doubtnut.com/l/_9clKu2of5ov6

87. Why is it dangerous to drive on a foggy day

?

° Watch Video Solution

88. Name the colours of spectrum which
respectively have (a) maximum wavelength (b)

minimum wavelength.

° Watch Video Solution



https://dl.doubtnut.com/l/_hQolotiKVBAv
https://dl.doubtnut.com/l/_4BUdNSHeOE5y

89. Why does disperson occur only on

refraction and not on reflection ?

o Watch Video Solution

90. How does the sky appear from the surface

of the moon ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UXPorN21wUad
https://dl.doubtnut.com/l/_G2l5l5qVP8Vn

91. What is the reason for atmospheric

refraction ?

o Watch Video Solution

92. On what factor does the colour of the

scattered light depend ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VkX7IM8J8KCc
https://dl.doubtnut.com/l/_gAUB1EFAwH0w

93. How does atmospheric refraction affect the

duration of the day on the earth?

° Watch Video Solution

94. What is the cause of random wavering or
flickering of the objects near a fire or on a very

hot day ?

° Watch Video Solution



https://dl.doubtnut.com/l/_a4er9oy8sotH
https://dl.doubtnut.com/l/_CZTfXV71b4Nw

95. Name any two phenomena which arise due
to scattering of light in the earth's

atmosphere.

o Watch Video Solution

96. What would have been the colour of the

sky, in the absence of atmosphere ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YmI7Ygw5aefZ
https://dl.doubtnut.com/l/_76xsNLRlcnKd

97. Why are the traffic light-signals [or danger

signals] of red colour ?

o Watch Video Solution

Zen Additional Questions Section Short Answer

Type Questions |

1. Name the four parts labelled as 1,2,3 and 4 in

the given figure.


https://dl.doubtnut.com/l/_zSwzQSfyDibw
https://dl.doubtnut.com/l/_0sOK5ICBDa7v

o View Text Solution

2.1n a human eye, name the following parts.
(i) A thin membrane which allows light to

enter into the eyes.


https://dl.doubtnut.com/l/_0sOK5ICBDa7v
https://dl.doubtnut.com/l/_5wytr719sQ33

(i) The muscles which help in changing the

focal length of the eye lens.

° Watch Video Solution

3. How are we able to see nearby and also the

distant objects clearly ?

o Watch Video Solution

4. What is meant by accomodation of the eye ?

o View Text Solution



https://dl.doubtnut.com/l/_5wytr719sQ33
https://dl.doubtnut.com/l/_l8bc5Ub3pAIS
https://dl.doubtnut.com/l/_X7OcYh8XvPuQ

5. Name the parts of the eye which help in this

phenomena and state how they help.

° View Text Solution

6. Explain the changes taking place in the
cilary muscles when we focus on a nearby

object and far-off objects.

° View Text Solution



https://dl.doubtnut.com/l/_X7OcYh8XvPuQ
https://dl.doubtnut.com/l/_x9UYOZDRTsIO
https://dl.doubtnut.com/l/_v2u3Y5gYE3nv
https://dl.doubtnut.com/l/_pTSW0rsNiGwi

7.How do the iris and pupil respond to (i) dim

and (ii) bright light ?

o View Text Solution

8. Name the screen on which an image is
formed in the eye. What is the range of vision

of a normal human eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pTSW0rsNiGwi
https://dl.doubtnut.com/l/_qjXfQ2QcQ9YH

9. How can change of size of eyeball be one of
the reason for (i) myopia and (ii) herpmetropia
eye ? Compare the size eyeball with that of a
normal eye in each case.

How does this change of size affect the

position of image in each case ?

o View Text Solution

10. Explain giving reason the type of lens used

to correct the defect of vision in myopia.

| & |


https://dl.doubtnut.com/l/_kXKUjz920Thk
https://dl.doubtnut.com/l/_szdvQi8o8gUE

| ¥ Watch Video Solution |

11. Name the part of eye where the image is
formed in a nornaml human eye. State how
the image position changes in myopia and

hypermetropia.

° Watch Video Solution

12. What is hypermetropia or far-sightedness ?

Name the type of lens used to correct it.

o Watch Video Solution



https://dl.doubtnut.com/l/_szdvQi8o8gUE
https://dl.doubtnut.com/l/_JWzimxaEgFWF
https://dl.doubtnut.com/l/_fWBVH4Ox7leZ

13. What is presbyopia ? Write two causes of

this defect.

o Watch Video Solution

14. What are bifocal lenses ? Who needs to use

them ?

o View Text Solution



https://dl.doubtnut.com/l/_fWBVH4Ox7leZ
https://dl.doubtnut.com/l/_HkxMxQL4AXUl
https://dl.doubtnut.com/l/_cSCYefvIsmr4

15. A person is able to see objects clearly only
when these are lying at a distance between 50
cm and 300 cm from his eye.

(a) What kind of defects of vision is he
suffering from ?

(b) What kind of lenses are required to
increases his range of vision from 25 cm to

infinity ? Explain briefly.

o Watch Video Solution



https://dl.doubtnut.com/l/_iJwwE72e3kIj

16. What is dispersion ? What happens when

light is passed through a glass prism ?

o Watch Video Solution

17. A beam of white light falling a glass prism
split up into seven colours marked 1 to 7 as
shown in the diagram. A student makes the
flowing statements about the spectrum
observed on the screen : The colours at

position mared 3 and 5 are similar to the


https://dl.doubtnut.com/l/_PFXEcKtUtYRQ
https://dl.doubtnut.com/l/_UeWnlluKpYTa

colour of the sky and the colour of gold metal,
respectively. Is the above statement made by

the student correct or incorrect ? Justify.

Which of the above-shown positions
corresponds approximately to the colour of (a)
a solution of potassium permanganate and (b)

'danger' or stop signal lights ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UeWnlluKpYTa

18. List the three phenomena of light
responsible for the formation of rainbow in

the sky.

o Watch Video Solution

19. A beam of light consisting of red, blue, and
yellow colours is incident on a prism, as shown

in the figures below. Complete the diagrams to


https://dl.doubtnut.com/l/_vMIcmTzEvNda
https://dl.doubtnut.com/l/_1CQyTuk8SWy1

show the refracted and emergent rays.

[a]

o Watch Video Solution

20. When a beam of white light is passed
through a triangular glass prism, it gets
dispersed into its seven colour components.
Why do we get these colours ? In the given
figure, the colours 3 and 4 represent the

extreme components of the spectrum. Identify


https://dl.doubtnut.com/l/_1CQyTuk8SWy1
https://dl.doubtnut.com/l/_odlE6n1PNxCl

3 and 4.

L White |Ip.i'||:
[ P —

o Watch Video Solution

21. Name the phenomenon responsible for (i)
advance of sunrise (ii) colour of water in deep

sea (iii) twinkling of stars and (iv) reddish


https://dl.doubtnut.com/l/_odlE6n1PNxCl
https://dl.doubtnut.com/l/_9XP74ivyMGnn

appearance of the sun at the time of sunrise

and sunset.

° Watch Video Solution

22. A star sometimes brighter and at other
times fainter. What is this effect called ? State

the reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_9XP74ivyMGnn
https://dl.doubtnut.com/l/_8vTYY3kX5mOK

23. Why do we see a rainbow in the ske only

after rainfall ?

° View Text Solution

24. Mention any four phenomena that can be
observed due to atmospheric refraction of

light on the earth.

° Watch Video Solution



https://dl.doubtnut.com/l/_R4AhG6B1du3Q
https://dl.doubtnut.com/l/_l8AUcjW6cQKr

25. What is the difference in colours of the sun
observed during sunrise/sunset and noon ?

Give explanation for each.

o Watch Video Solution

26. Sun appears red in colour during sunrise
but appears white at noon. Explain with the

reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_NfyWvjQjVEFr
https://dl.doubtnut.com/l/_LILjKhGRUo21
https://dl.doubtnut.com/l/_WdOJuiaaMvWf

27. Why does the sun seem to rise two
minutes before the actual sunrise and set
minutes after the actual sunset ? Explain with

the help of a labelled diagram.

° Watch Video Solution

28. The sun near the horizon appears flattened

at sunset and sunrise. Explain why.

o Watch Video Solution



https://dl.doubtnut.com/l/_WdOJuiaaMvWf
https://dl.doubtnut.com/l/_wXmIUlchK4b9
https://dl.doubtnut.com/l/_MQxZG5chIOP9

29. Is the position of a star as seen by us its

true position ? Justify your answer.

° Watch Video Solution

30. "Stars appear higher than they actually

are". Give reason.

o Watch Video Solution

31. Explain how the colour of the scattered

light depends on the size of the colloidal


https://dl.doubtnut.com/l/_MQxZG5chIOP9
https://dl.doubtnut.com/l/_EpwiMrYYqpwx
https://dl.doubtnut.com/l/_KXxyucfyNAgP

particles.

o Watch Video Solution

32. What would have been the colour of the

sky, in the absence of atmosphere ?

° Watch Video Solution

33. What is meant by scattering of light ? Use

this phenomenon to explain why the clear sky


https://dl.doubtnut.com/l/_KXxyucfyNAgP
https://dl.doubtnut.com/l/_IsKFCSmO7QFK
https://dl.doubtnut.com/l/_qvdy0nHnGDRv

appears blue or why the sun appears reddish

at sunrise.

° View Text Solution

34. Name the four parts labelled as 1,2,3 and 4

in the given figure.



https://dl.doubtnut.com/l/_qvdy0nHnGDRv
https://dl.doubtnut.com/l/_pD7DTrtg9skt

| ¥ Watch Video Solution |

35.In a human eye, name the following parts.
(i) A thin membrane which allows light to
enter into the eyes.

(i) The muscles which help in changing the

focal length of the eye lens.

o Watch Video Solution

36. How are we able to see nearby and also the

distant objects clearly ?


https://dl.doubtnut.com/l/_pD7DTrtg9skt
https://dl.doubtnut.com/l/_1wDTVd7rYT4I
https://dl.doubtnut.com/l/_W2aVy700YkR0

° Watch Video Solution

37. What is meant by accomodation of the eye

?

o Watch Video Solution

38. Name the parts of the eye which help in

this phenomena and state how they help.

° View Text Solution



https://dl.doubtnut.com/l/_W2aVy700YkR0
https://dl.doubtnut.com/l/_WXhsBLftoBVT
https://dl.doubtnut.com/l/_WZca5KKh2EMe
https://dl.doubtnut.com/l/_Ywy2YKZmsW7t

39. Explain the changes taking place in the
cilary muscles when we focus on a nearby

object and far-off objects.

° Watch Video Solution

40. How do the iris and pupil respond to (i)

dim and (ii) bright light ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ywy2YKZmsW7t
https://dl.doubtnut.com/l/_TssQjchiZ7xI

41. Name the screen on which an image is
formed in the eye. What is the range of vision

of a normal human eye ?

o Watch Video Solution

42. How can change of size of eyeball be one
of the reason for (i) myopia and (ii)
herpmetropia eye ? Compare the size eyeball

with that of a normal eye in each case.


https://dl.doubtnut.com/l/_QvKsQV4bAZk0
https://dl.doubtnut.com/l/_12m1bK0uEebQ

How does this change of size affect the

position of image in each case ?

° Watch Video Solution

43. Explain giving reason the type of lens used

to correct the defect of vision in myopia.

o Watch Video Solution

44. Name the part of eye where the image is

formed in a nornaml human eye. State how


https://dl.doubtnut.com/l/_12m1bK0uEebQ
https://dl.doubtnut.com/l/_nVbUIg3pJO4W
https://dl.doubtnut.com/l/_2YnrhUGmQwTg

the image position changes in myopia and

hypermetropia.

° Watch Video Solution

45. What is hypermetropia or far-sightedness ?

Name the type of lens used to correct it.

o Watch Video Solution

46. What is presbyopia ? Write two causes of

this defect.


https://dl.doubtnut.com/l/_2YnrhUGmQwTg
https://dl.doubtnut.com/l/_Jt0MEBaMNej5
https://dl.doubtnut.com/l/_TGT8jsCsuSHX

° Watch Video Solution

47. What are bifocal lenses ? Who needs to use

them ?

o Watch Video Solution

48. A person is able to see objects clearly only
when these are lying at a distance between 50
cm and 300 cm from his eye.

(a) What kind of defects of vision is he


https://dl.doubtnut.com/l/_TGT8jsCsuSHX
https://dl.doubtnut.com/l/_vq0qGwjBqw62
https://dl.doubtnut.com/l/_FF4AT1KKcPgN

suffering from ?
(b) What kind of lenses are required to
increases his range of vision from 25 cm to

infinity ? Explain briefly.

° Watch Video Solution

49. What is dispersion ? What happens when

light is passed through a glass prism ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FF4AT1KKcPgN
https://dl.doubtnut.com/l/_ymhjEcLP2FNb

50. A beam of white light falling a glass prism
split up into seven colours marked 1 to 7 as
shown in the diagram. A student makes the
flowing statements about the spectrum
observed on the screen : The colours at
position mared 3 and 5 are similar to the
colour of the sky and the colour of gold metal,
respectively. Is the above statement made by

the student correct or incorrect ? Justify.


https://dl.doubtnut.com/l/_mV83BcjaRCTY

Which of the above-shown positions
corresponds approximately to the colour of (a)
a solution of potassium permanganate and (b)

'danger’ or stop signal lights ?

o Watch Video Solution

51. List the three phenomena of light

responsible for the formation of rainbow in


https://dl.doubtnut.com/l/_mV83BcjaRCTY
https://dl.doubtnut.com/l/_E7SoGC2APiMH

the sky.

o Watch Video Solution

52. A beam of light consisting of red, blue, and
yellow colours is incident on a prism, as shown
in the figures below. Complete the diagrams to

show the refracted and emergent rays.

[a]

o Watch Video Solution



https://dl.doubtnut.com/l/_E7SoGC2APiMH
https://dl.doubtnut.com/l/_7g49RXvM31yH

53. When a beam of white light is passed
through a triangular glass prism, it gets
dispersed into its seven colour components.
Why do we get these colours ? In the given
figure, the colours 3 and 4 represent the
extreme components of the spectrum. Identify

3 and 4.

= White ilplilll
—

= Prisim



https://dl.doubtnut.com/l/_hUy3XYx531TF

L Watch Video Solution J

54. Name the phenomenon responsible for (i)
advance of sunrise (ii) colour of water in deep
sea (iii) twinkling of stars and (iv) reddish
appearance of the sun at the time of sunrise

and sunset.

o Watch Video Solution

55. A star sometimes brighter and at other

times fainter. What is this effect called ? State


https://dl.doubtnut.com/l/_hUy3XYx531TF
https://dl.doubtnut.com/l/_NcuSQYVj3lhp
https://dl.doubtnut.com/l/_iCnePXTb0yxD

the reason.

o Watch Video Solution

56. Why do we see a rainbow in the ske only

after rainfall ?

° Watch Video Solution

57. Mention any four phenomena that can be
observed due to atmospheric refraction of

light on the earth.


https://dl.doubtnut.com/l/_iCnePXTb0yxD
https://dl.doubtnut.com/l/_LiHzHSc9AeBJ
https://dl.doubtnut.com/l/_LifWXAv4WXax

° Watch Video Solution

58. What is the difference in colours of the sun
observed during sunrise/sunset and noon ?

Give explanation for each.

° Watch Video Solution

59. Sun appears red in colour during sunrise
but appears white at noon. Explain with the

reasons.

| e |


https://dl.doubtnut.com/l/_LifWXAv4WXax
https://dl.doubtnut.com/l/_QVaNGunJDhSz
https://dl.doubtnut.com/l/_rVrdbk9QSsaE

& Wwatch Video Solution I

60. Why does the sun seem to rise two
minutes before the actual sunrise and set
minutes after the actual sunset ? Explain with

the help of a labelled diagram.

o Watch Video Solution

61. The sun near the horizon appears flattened

at sunset and sunrise. Explain why.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_rVrdbk9QSsaE
https://dl.doubtnut.com/l/_XHU2b67OCcoU
https://dl.doubtnut.com/l/_EBgbACY0Lu1C

62. Is the position of a star as seen by us its

true position ? Justify your answer.

o Watch Video Solution

63. "Stars appear higher than they actually

are". Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_EBgbACY0Lu1C
https://dl.doubtnut.com/l/_o5KDK5kSBFzR
https://dl.doubtnut.com/l/_M7oRG33PypQp

64. Explain how the colour of the scattered
light depends on the size of the colloidal

particles.

o Watch Video Solution

65. What would have been the colour of the

sky, in the absence of atmosphere ?

° Watch Video Solution



https://dl.doubtnut.com/l/_NQ0eDVRJ6qrq
https://dl.doubtnut.com/l/_PFwY0sUwXp9T

66. What is meant by scattering of light ? Use
this phenomenon to explain why the clear sky
appears blue or why the sun appears reddish

at sunrise.

° Watch Video Solution

Zen Additional Questions Section Short Answer

Type Questions li

1. Draw a labelled diagram of the human eye.

What is the significance of the blind spot ?


https://dl.doubtnut.com/l/_iNWadYwStwXs
https://dl.doubtnut.com/l/_WELR4qfNOjl3

° Watch Video Solution

2. Draw ray diagrams showing (i) myopia eye

and (i) hypermetropia eye.

o Watch Video Solution

3. A person cannot see objects further than 10
metres from the eye clearly. Name the defect

of vision he is suffering from. How can it be


https://dl.doubtnut.com/l/_WELR4qfNOjl3
https://dl.doubtnut.com/l/_H80ArjbhyVW2
https://dl.doubtnut.com/l/_7Qx2Gag5Z2M8

corrected ? Draw a diagram for (i) defect of

vision and also (ii) for its correction.

° Watch Video Solution

4. List two main causes of a person developing
near-sightedness. Show with the help of a ray

diagram how this defect can be corrected.

° Watch Video Solution



https://dl.doubtnut.com/l/_7Qx2Gag5Z2M8
https://dl.doubtnut.com/l/_okTbSXKOrYoI

5. Study the diagram and answer the
questions the follow it :

(i) Which defect of vision is represented in the
case ? Give reason for your answer.

(i) What could be two causes of this defect ?
(iii) With the help of a diagram show how this
defect can be corrected by the use of a

suitable lens.

NN



https://dl.doubtnut.com/l/_bn2ubjqRsGIL

‘ o Watch Video Solution

6. A narrow beam PQ of white light is passing
through a glass prism ABC as shown in the
diagram. Trace it one your answer sheet and
show the path of the emergent beam as
observed on the screen DE.

(i) Write the name and cause of the
phenomenon observed.

(i) Where else is nature is the phenomenon
observed ?

(iii) Based on this observation, state the


https://dl.doubtnut.com/l/_bn2ubjqRsGIL
https://dl.doubtnut.com/l/_ShI01sCo8fsC

conclusion which can be drawn about the

constituents of white light.

° View Text Solution

7 E CE
When light passes through a prism, seven

colours namely VIBGYOR are seen on white

screen. All these have different angles of


https://dl.doubtnut.com/l/_ShI01sCo8fsC
https://dl.doubtnut.com/l/_YQ5k5xknKcMV

deviation. Explain why. Name the colours
which suffer maximum and minimum deviation

respectively.

o Watch Video Solution

8. What is disperson of white light ? State its
cause.
Draw a ray diagram to show disperson of

white light by a glass prism.

° Watch Video Solution



https://dl.doubtnut.com/l/_YQ5k5xknKcMV
https://dl.doubtnut.com/l/_OB09vU7TsdQs
https://dl.doubtnut.com/l/_3bALKhqDQrbI

9. Describe an activity to show refraction of
light through a prism. Draw relevant figure,
marking angle of incidence, refraction

emergence, and deviation.

° Watch Video Solution

10. Draw a ray diagram to show the path of
light that enters the glass prism obliquely.
Label on it the angle of incidance and angle of

deviation.

l ° View Text Solution


https://dl.doubtnut.com/l/_3bALKhqDQrbI
https://dl.doubtnut.com/l/_sk6GeK9p9lfR

11. Describe the formation of a rainbow in the

sky with the help of a diagram.

° Watch Video Solution

12. Why do different colours get separated
when a white light passes through a prism ?
How can we recombine the components of
white light after a prism has separated them ?

Explain with the help of a figure.



https://dl.doubtnut.com/l/_sk6GeK9p9lfR
https://dl.doubtnut.com/l/_KlSlm5ii774z
https://dl.doubtnut.com/l/_y3hy4X2CxZjR

Watch Video Solution

13. Explain the experiment conducted by
Newton to show that white light contains

seven colours.

o View Text Solution

14. With the help of a labelled diagram. Explain
why the sun appears reddish at sunrise and

sunset.

| €8 |


https://dl.doubtnut.com/l/_y3hy4X2CxZjR
https://dl.doubtnut.com/l/_kvNZpwZvVAEm
https://dl.doubtnut.com/l/_DN4gyiwvhWCO

| ¥ View Text Solution J

15. Draw a labelled diagram of the human eye.

What is the significance of the blind spot ?

° Watch Video Solution

16. Draw ray diagrams showing (i) myopia eye

and (i) hypermetropia eye.

o Watch Video Solution



https://dl.doubtnut.com/l/_DN4gyiwvhWCO
https://dl.doubtnut.com/l/_PGjS5gHms8KZ
https://dl.doubtnut.com/l/_3rC37d8nrftR
https://dl.doubtnut.com/l/_BC9DbO5U4pYp

17. A person cannot see objects further than 10
metres from the eye clearly. Name the defect
of vision he is suffering from. How can it be
corrected ? Draw a diagram for (i) defect of

vision and also (ii) for its correction.

o Watch Video Solution

18. List two main causes of a person
developing near-sightedness. Show with the
help of a ray diagram how this defect can be

corrected.

| e |


https://dl.doubtnut.com/l/_BC9DbO5U4pYp
https://dl.doubtnut.com/l/_w8FAmjQ8EL9d

| L ® Watch Video Solution

19. Study the diagram and answer the
questions the follow it :

(i) Which defect of vision is represented in the
case ? Give reason for your answer.

(i) What could be two causes of this defect ?
(i) With the help of a diagram show how this

defect can be corrected by the use of a


https://dl.doubtnut.com/l/_w8FAmjQ8EL9d
https://dl.doubtnut.com/l/_oEi4YdPIQ8Cs

suitable lens.

NN

o Watch Video Solution

20. A narrow beam PQ of white light is passing
through a glass prism ABC as shown in the
diagram. Trace it one your answer sheet and

show the path of the emergent beam as


https://dl.doubtnut.com/l/_oEi4YdPIQ8Cs
https://dl.doubtnut.com/l/_2CY1nZJ2ktWu

observed on the screen DE.

(i) Write the name and cause of the
phenomenon observed.

(i) Where else is nature is the phenomenon
observed ?

(iii) Based on this observation, state the
conclusion which can be drawn about the

constituents of white light.

o Watch Video Solution



https://dl.doubtnut.com/l/_2CY1nZJ2ktWu

2. P C E

When light passes through a prism, seven
colours namely VIBGYOR are seen on white
screen. All these have different angles of
deviation. Explain why. Name the colours
which suffer maximum and minimum deviation

respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_ev2vJh1KZVnD

22. What is disperson of white light ? State its
cause.
Draw a ray diagram to show disperson of

white light by a glass prism.

o Watch Video Solution

23. Describe an activity to show refraction of
light through a prism. Draw relevant figure,
marking angle of incidence, refraction

emergence, and deviation.


https://dl.doubtnut.com/l/_ev2vJh1KZVnD
https://dl.doubtnut.com/l/_PDKdToPjDJ4s
https://dl.doubtnut.com/l/_26nZuaQITQ45

° Watch Video Solution

24. Draw a ray diagram to show the path of
light that enters the glass prism obliquely.

Label on it the angle of incidance and angle of

deviation.

o Watch Video Solution

25. Describe the formation of a rainbow in the

sky with the help of a diagram.

| |


https://dl.doubtnut.com/l/_26nZuaQITQ45
https://dl.doubtnut.com/l/_AExcwmNJpjAY
https://dl.doubtnut.com/l/_icJbuqz9vUrB

& watch Video Solution I

26. Why do different colours get separated
when a white light passes through a prism ?
How can we recombine the components of
white light after a prism has separated them ?

Explain with the help of a figure.

° Watch Video Solution

27. Explain the experiment conducted by

Newton to show that white light contains


https://dl.doubtnut.com/l/_icJbuqz9vUrB
https://dl.doubtnut.com/l/_v7X7jcEx0rj2
https://dl.doubtnut.com/l/_xb6sNJRoJI0V

seven colours.

o Watch Video Solution

28. With the help of a labelled diagram. Explain
why the sun appears reddish at sunrise and

sunset.

o Watch Video Solution

Zen Additional Questions Section Problem

Section



https://dl.doubtnut.com/l/_xb6sNJRoJI0V
https://dl.doubtnut.com/l/_9wX60WMD4cpy
https://dl.doubtnut.com/l/_uLZuAkO4xzQq

1. Calculate maximum power of accomodation

of a person having normal vision.

o Watch Video Solution

2. How can we determine the focal length and
power of the concave lens required to correct

a myopia eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_uLZuAkO4xzQq
https://dl.doubtnut.com/l/_sYdhNSYgxsrV

3. How can we determine the focal length and
power of the convex lens required to correct a

hypermetropia eye ?

o Watch Video Solution

4. A person with a myopia eye cannot see
objects beyond a distance of 1.5 m. What
would be the power of the corrective lens

used to restore proper vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_f3sLpAIMnArE
https://dl.doubtnut.com/l/_HrhU40GUu6Ll

5. A doctor prescribes a corrective lens of
power -0.5 D to a person. Find the focal length
of the lens. Is this lens diverging or
converging? Give reason. How does the
property of this lens can be used to correct

eye defects ?

o Watch Video Solution

6. Why does the power to clearly see near

objects and far-off objects diminish with age ?


https://dl.doubtnut.com/l/_HrhU40GUu6Ll
https://dl.doubtnut.com/l/_RYHHL5UbvAK4
https://dl.doubtnut.com/l/_wYZpbAVLr3MA

Name the defects that are likely to arise in eye

in such a condition.

° Watch Video Solution

7. The far point of a myopia eye is 60 cm. Find

the focal length of the lens used to correct it.

o Watch Video Solution

8. Ravi kept a book at a distance of 10 cm from

the eyes of his friend Hari. Hari is not able to


https://dl.doubtnut.com/l/_wYZpbAVLr3MA
https://dl.doubtnut.com/l/_wCg86GNvfP0s
https://dl.doubtnut.com/l/_9bdJv58jn3IN

read anything written on the book. Why ?

o Watch Video Solution

9. A lens of focal length 5 cm is being used by
a student in the laboratory as a magnifying
glass. His least distance of distinct vision is 25
cm. What magnification is the student

getting?

o Watch Video Solution



https://dl.doubtnut.com/l/_9bdJv58jn3IN
https://dl.doubtnut.com/l/_hERtZLqevgTh

10. A myopia person can see things clearly only
when they lie between 10 cm and 80 cm from
the eye. Which lens would enable him to see

the moon clearly ?

o Watch Video Solution

11. A person wants to read a book placed at 20
cm whereas the near poit of his eyes is 50 cm.

Calculate the power of the lens required.

o Watch Video Solution



https://dl.doubtnut.com/l/_O8pTUKjqqbcb
https://dl.doubtnut.com/l/_JYebsJK3LGtq

12. The far point of a myopia person is 200 cm.
Calculate the power of a lens required to

enable him to see distant objects clearly.

° Watch Video Solution

13. Explain the structure and functioning of
the human eye. How are we able to see nearby

and distant objects ?

° View Text Solution



https://dl.doubtnut.com/l/_JYebsJK3LGtq
https://dl.doubtnut.com/l/_X0oNvghZECLa
https://dl.doubtnut.com/l/_AI30fSCEN7aD

14. What is atmospheric refraction ? Use this
phenomenon to explain the following natural
events : (i) Twinkling of stars (ii)) Advanced
sunrise and delayed sunset. Draw diagram to

illustrate your answer.

o View Text Solution

15. What is Tyndall effect? What is its cause ?
Name two phenomena observed in daily life

based on Tyndall effect.

| & |


https://dl.doubtnut.com/l/_cxa3OTo5CnRw
https://dl.doubtnut.com/l/_9Y8UFhKiYc7r

| ¥ Watch Video Solution |

16. A beam of light is allowed to pass through
two beakers A and B, containg a true
solutionand a colloidal solution respectively.
What do you observe ? Name the
phenomenon responsible for your

observation.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Y8UFhKiYc7r
https://dl.doubtnut.com/l/_Ffp6G26lp3AX

17. Write an activity for observing scattering of
light in colloidal solution. Support the activity

with diagrams.

o View Text Solution

18. Mention any four differences between a

glass slab and a glass prism.

o Watch Video Solution



https://dl.doubtnut.com/l/_6aC7w9LQW94o
https://dl.doubtnut.com/l/_LDOAacXEhTBX

19. Calculate maximum power of accomodation

of a person having normal vision.

o Watch Video Solution

20. How can we determine the focal length
and power of the concave lens required to

correct a myopia eye ?

o Watch Video Solution



https://dl.doubtnut.com/l/_17UF7ZiR3Eff
https://dl.doubtnut.com/l/_qwWluzrdVhx0

21. How can we determine the focal length and
power of the convex lens required to correct a

hypermetropia eye ?

o Watch Video Solution

22. A person with a myopia eye cannot see
objects beyond a distance of 1.5 m. What
would be the power of the corrective lens

used to restore proper vision ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YVaBzne7c7Uc
https://dl.doubtnut.com/l/_ZhcQTD3aE0gv

23. A doctor prescribes a corrective lens of
power -0.5 D to a person. Find the focal length
of the lens. Is this lens diverging or
converging? Give reason. How does the
property of this lens can be used to correct

eye defects ?

o Watch Video Solution

24. Why does the power to clearly see near

objects and far-off objects diminish with age ?


https://dl.doubtnut.com/l/_ZhcQTD3aE0gv
https://dl.doubtnut.com/l/_noK8loJjPiQe
https://dl.doubtnut.com/l/_oZS9hgrgLpCD

Name the defects that are likely to arise in eye

in such a condition.

° Watch Video Solution

25. The far point of a myopia eye is 60 cm. Find

the focal length of the lens used to correct it.

o Watch Video Solution

26. Ravi kept a book at a distance of 10 cm

from the eyes of his friend Hari. Hari is not


https://dl.doubtnut.com/l/_oZS9hgrgLpCD
https://dl.doubtnut.com/l/_uhcDWG1gqFFW
https://dl.doubtnut.com/l/_1g7nMUBNjs2S

able to read anything written on the book.

Why ?

° Watch Video Solution

27. A lens of focal length 5 cm is being used by
a student in the laboratory as a magnifying
glass. His least distance of distinct vision is 25
cm. What magnification is the student

getting?

° Watch Video Solution



https://dl.doubtnut.com/l/_1g7nMUBNjs2S
https://dl.doubtnut.com/l/_PWQAUzQXcYU3
https://dl.doubtnut.com/l/_dcLuzqLesVi6

28. A myopia person can see things clearly only
when they lie between 10 cm and 80 cm from
the eye. Which lens would enable him to see

the moon clearly ?

° Watch Video Solution

29. A person wants to read a book placed at 20
cm whereas the near poit of his eyes is 50 cm.

Calculate the power of the lens required.

° Watch Video Solution



https://dl.doubtnut.com/l/_dcLuzqLesVi6
https://dl.doubtnut.com/l/_JyfE5G4jQjxi

30. The far point of a myopia person is 200 cm.
Calculate the power of a lens required to

enable him to see distant objects clearly.

o Watch Video Solution

31. Explain the structure and functioning of
the human eye. How are we able to see nearby

and distant objects ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cQFlcHC0lb7q
https://dl.doubtnut.com/l/_zrrWULUiEOJI
https://dl.doubtnut.com/l/_24HOXXaeNQ2U

32. What is atmospheric refraction ? Use this
phenomenon to explain the following natural
events : (i) Twinkling of stars (ii)) Advanced
sunrise and delayed sunset. Draw diagram to

illustrate your answer.

o Watch Video Solution

33. What is Tyndall effect? What is its cause ?
Name two phenomena observed in daily life

based on Tyndall effect.

o Watch Video Solution



https://dl.doubtnut.com/l/_24HOXXaeNQ2U
https://dl.doubtnut.com/l/_Iqs7Swkh0f89

34. A beam of light is allowed to pass through
two beakers A and B, containg a true
solutionand a colloidal solution respectively.
What do you observe ? Name the
phenomenon responsible for your

observation.

o Watch Video Solution



https://dl.doubtnut.com/l/_Iqs7Swkh0f89
https://dl.doubtnut.com/l/_i1IY7h4iWJ4j

35. Write an activity for observing scattering
of light in colloidal solution. Support the

activity with diagrams.

o Watch Video Solution

36. Mention any four differences between a

glass slab and a glass prism.

o Watch Video Solution



https://dl.doubtnut.com/l/_i5Djby53eNZm
https://dl.doubtnut.com/l/_kRke5Q9wbd7C

Zen Additional Questions Section Higher Order

Thinking Skills Hots

1. Rohan is not able to contract his iris
properly due to defect in his eyes. Rohan
would not be able to see:

(1) in dim light (ii) in bright light

(iii) nearby objects (iv) distant objects

o Watch Video Solution



https://dl.doubtnut.com/l/_dUmct5rkxjUf

2. What happens to the focal length of the eye

lens when ciliary muscles (i) relax (ii) contract ?

° Watch Video Solution

3. A person is wearing spectacles which is (i)
thicker at the centre (ii) thinner at the centre
and (iii) made of two different types of lenses.
Identify the type of lens and the defect of
vision the person is suffering from, in each

case.

| & |


https://dl.doubtnut.com/l/_AfRxz6LbVhsg
https://dl.doubtnut.com/l/_bDRZtiQbaia9

| ¥ Watch Video Solution |

4. Does disperson occur in a follow prism ?

Given reason.

o View Text Solution

5. Does a prism disperse when immersed in

water ? If so, how is its spectrum affected ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bDRZtiQbaia9
https://dl.doubtnut.com/l/_ojva3WsaOpWy
https://dl.doubtnut.com/l/_VOvnyZYqEt9t
https://dl.doubtnut.com/l/_gY0f9y4byKWy

6. Which of the following persons can donate
their eyes after death ? A person suffering
from (i) Hepatitis B (ii) myopia (iii) leukaemia

(iv) asthma.

° View Text Solution

7. In the spectrum of white light, which colour
is deviated maximum ?

(a) Red (b) Yellow (c ) green (d) Violet

° Watch Video Solution



https://dl.doubtnut.com/l/_gY0f9y4byKWy
https://dl.doubtnut.com/l/_BhQdQpKEU5Wl
https://dl.doubtnut.com/l/_mdWgz4D25T4w

8. In the prism shown in the below figure,

identify the prism angle.

o Watch Video Solution

9. Which of the followig solids are not prisms?

Why ?


https://dl.doubtnut.com/l/_mdWgz4D25T4w
https://dl.doubtnut.com/l/_iFLopVaDgCXF

DB

o Watch Video Solution

10. Why do some clouds appear white while

some appear grey ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iFLopVaDgCXF
https://dl.doubtnut.com/l/_JeKPDZkdIEUl

11. Planet mercury has no atmosphere. What is

the colour of its sky ?

o Watch Video Solution

12. The sun appears red at sunrise and sunset.

This is due to scattering of

A.longer wavelengths

B. shorter wavelengths

C. all wavelengths


https://dl.doubtnut.com/l/_zfVeR9ZN6oCj
https://dl.doubtnut.com/l/_d5sRDuGfqCZg

D. none of these

Answer:

o Watch Video Solution

13. A prism ABC [with BC as base] is placed in
different orientations. A narrow beam of white
light is incident on the prism as shown in the
figure. In which of the following cases, after

dispersion, the third colour from the rop


https://dl.doubtnut.com/l/_d5sRDuGfqCZg
https://dl.doubtnut.com/l/_kFtoiOTzY7ig

corresponds to the colour of the sky ?
A C B - -
ANV L] >
o " - owy 8 i)

o Watch Video Solution

14. Rohan is not able to contract his iris
properly due to defect in his eyes. Rohan
would not be able to see:

(i) in dim light (ii) in bright light

(iii) nearby objects (iv) distant objects

o Watch Video Solution



https://dl.doubtnut.com/l/_kFtoiOTzY7ig
https://dl.doubtnut.com/l/_C3KuNUzUsMMD

15. What happens to the focal length of the
eye lens when ciliary muscles (i) relax (ii)

contract ?

o Watch Video Solution

16. A person is wearing spectacles which is (i)
thicker at the centre (ii) thinner at the centre
and (iii) made of two different types of lenses.

Identify the type of lens and the defect of


https://dl.doubtnut.com/l/_C3KuNUzUsMMD
https://dl.doubtnut.com/l/_xfOEyhfQmpvi
https://dl.doubtnut.com/l/_zCz9emSuy6eQ

vision the person is suffering from, in each

case.

° Watch Video Solution

17. Does dispersion occur in a prism ? Given

reason.

o Watch Video Solution

18. Does a prism disperse when immersed in

water ? If so, how is its spectrum affected ?


https://dl.doubtnut.com/l/_zCz9emSuy6eQ
https://dl.doubtnut.com/l/_8jNJUsanXlXB
https://dl.doubtnut.com/l/_KPBaCQHrtcVc

° Watch Video Solution

19. Which of the following persons can donate
their eyes after death ? A person suffering
from (i) Hepatitis B (ii) myopia (iii) leukaemia

(iv) asthma.

o Watch Video Solution

20. In the spectrum of white light, which

colour is deviated maximum ?


https://dl.doubtnut.com/l/_KPBaCQHrtcVc
https://dl.doubtnut.com/l/_IMU6xUBa9OKP
https://dl.doubtnut.com/l/_35x73ajXrxuR

(a) Red (b) Yellow (c ) green (d) Violet

o Watch Video Solution

21. In the prism shown in the below figure,

identify the prism angle.

o Watch Video Solution



https://dl.doubtnut.com/l/_35x73ajXrxuR
https://dl.doubtnut.com/l/_OUcSzJQtdfuf
https://dl.doubtnut.com/l/_dajbTEpQcQu2

22. Which of the followig solids are not

prisms? Why ?
3 b] <] d]

° Watch Video Solution

23. Why do some clouds appear white while

some appear grey ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dajbTEpQcQu2
https://dl.doubtnut.com/l/_HiSfzFpomHne
https://dl.doubtnut.com/l/_JLishOH1sHn6

24. Planet mercury has no atmosphere. What is

the colour of its sky ?

o Watch Video Solution

25. The sun appears red at sunrise and sunset.

This is due to scattering of

A.longer wavelengths

B. shorter wavelengths

C. all wavelengths


https://dl.doubtnut.com/l/_JLishOH1sHn6
https://dl.doubtnut.com/l/_QVd6EPntYnfN

D. none of these

Answer:

o Watch Video Solution

26. A prism ABC [with BC as base] is placed in
different orientations. A narrow beam of white
light is incident on the prism as shown in the
figure. In which of the following cases, after

dispersion, the third colour from the rop


https://dl.doubtnut.com/l/_QVd6EPntYnfN
https://dl.doubtnut.com/l/_L9MCNmOivVxI

corresponds to the colour of the sky ?

A C B c c
,.z "_., "-n. ; A; | A
a iC A a
'} i) () i)

o Watch Video Solution



https://dl.doubtnut.com/l/_L9MCNmOivVxI

